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hundred fifty years of the existence of this republic, no one expected
the press was fair. newspapers were mostly shrill, scurrilous, and
partisan.(A) was(B) to be(C) of being(D) should be (E) had to be2.
Most victims of infectious mononucleosis recover after a few weeks
of listlessness, but an unlucky few may suffer for years.(A) but an
unlucky few may suffer(B) and an unlucky few have suffered(C) that
an unlucky few might suffer(D) that a few being unlucky may suffer
(E) but a few who, being unlucky, suffered3. It was the loss of
revenue from declines in tourism that in 1935 led the Saudi
authorities’ granting a concession for oil exploration to the
company that would later be known by the name of Aramco.(A)
authorities’ granting a concession for oil exploration to the
company that would later be known by the name of(B) authorities’
granting a concession for oil exploration to the company later to be
known as named(C) authorities granting a concession for ol
exploration to the company that would later be known by the name
of (D) authorities to grant a concession for oil exploration to the
company that later will be known as being (E) authorities to grant a
concession for oil exploration to the company later to be known as4.
Framed by traitorous colleagues, Alfred Dreyfus was imprisoned for
twelve years before there was exoneration and his freedom.(A) there
was exoneration and his freedom(B) he was to be exonerated with



freedom(C) being exonerated and freed(D) exoneration and his
freedom (E) being freed, having been exonerated5. By studying the
primitive visual systems of single-cell aguatic organisms,
biophysicists have discovered a striking similarity between algae and
cows, a similarity that indicates the common evolutionary origin of
plants and animals: both algae and cows produce a light-sensitive
protein called rhodopsin.(A) biophysicists have discovered a striking
similarity between algae and cows(B) a striking similarity between
algae and cows has been discovered by biophysicists(C) there is a
striking similarity that biophysicists have discovered between algae
and cows(D) the discovery of a striking similarity between algae and
cows was made by biophysicists (E) algae and cows have a striking
similarity that was discovered by biophysicists6. Because young
children do not organize their attention or perceptions
systematically, like adults, they may notice and remember details that
their elders ignore.(A) like adults(B) unlike an adult(C) as adults(D)
as adults do (E) as an adult7. As many as 300 of the 720 paintings
attributed to Rembrandt may actually be the works of his students or
other admirers.(A) the 720 paintings attributed to Rembrandt
may(B) the 720 paintings attributed to be Rembrandt’ s might(C)
the 720 paintings that were attributed to be by Rembrandt may(D)
the 720 Rembrandt paintings that were once attributed to him might
(E) Rembrandt’ s paintings, although 720 were once attributed to
him, may8. Studies of the human “ sleep-wake cycle” have
practical relevance for matters ranging from duty assignments in
nuclear submarines and air-traffic control towers to the staff of shifts



In 24-hour factories.(A) to the staff of(B) to those who staff(C) to the
staffing of(D) and staffing (E) and the staff of9. Many psychologists
and sociologists now contend that the deliberate and even brutal
aggression integral to some forms of competitive athletics increase
the likelihood of imitative violence that erupts among crowds of
spectators dominated by young adult males.(A) increase the
likelihood of imitative violence that erupts(B) increase the likelihood
that there will be an eruption of imitative violence(C) increase the
likelihood of imitative violence erupting(D) increases the likelihood
for imitative violence to erupt (E) increases the likelihood that
Imitative violence will erupt10. More than five thousand years ago,
Chinese scholars accurately described the flow of blood as a
continuous circle controlled by the heart, but it went unnoticed in
the West.(A) but it went(B) but it was(C) although it was(D) but the
discovery went (E) although the discovery was11. Several studies
have found that the coronary patients who exercise most actively
have half or less than half the chance of dying of a heart attack as
those who are sedentary.(A) have half or less than half the chance of
dying of a heart attack as those who are sedentary(B) have half the
chance, or less, of dying of a heart attack than those who are
sedentary do(C) have half the chance that they will die of a heart
attack, or less, than those who are sedentary do(D) are at least fifty
percent less likely to die of a heart attack as those who are sedentary
(E) are at least fifty percent less likely than those who are sedentary to
die of a heart attack12. Most nations regard their airspace as
extending upward as high as an aircraft can fly. no specific altitude,



however, has been officially recognized as a boundary.(A) as
extending(B) as the extent(C) to be an extent(D) to be an extension
(E) to extend13. According to scientists at the University of
California, the pattern of changes that have occurred in human DNA
over the millennia indicate the possibility that everyone alive today
might be descended from a single female ancestor who lived in Africa
sometime between 140,000 and 280,000 years ago.(A) indicate the
possibility that everyone alive today might be descended from a
single female ancestor who(B) indicate that everyone alive today
might possibly be a descendant of a single female ancestor who
had(C) may indicate that everyone alive today has descended from a
single female ancestor who had(D) indicates that everyone alive
today may be a descendant of a single female ancestor who (E)
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